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Question 1
Question Type: MultipleChoice

You are planning an Active-Active-Active VRRP-A three-device deployment that, upon failover of any device, distributes the load from a

single device to both standby devices simultaneously. How many VRIDs are required?

Options: 
A- 2

B- VRID Default is enough

C- 6

D- 5

E- 3

F- 4

Answer: 
C



Question 2
Question Type: MultipleChoice

Which three items does aXAPI require to configure an ACOS object (such as an SLB object)? (Choose three.)

Options: 
A- Endpoint with parameters

B- Authorization signature

C- Device's VIP URL

D- Device's serial number

E- Device's management/data IP

F- Encrypted connection to device

Answer: 
B, E, F

Question 3



Question Type: MultipleChoice

Which statement is true about the requirements for ACOS devices that are part of an aVCS cluster?

Options: 
A- Any Thunder series devices can be clustered together in an aVCS set

B- Devices must be the same model but can have different optional hardware cards

C- Devices must be the same model and have the same optional hardware cards

Answer: 
C

Question 4
Question Type: MultipleChoice

Which commands display the ACOS device serial number? (Choose two.)



Options: 
A- show system

B- show hardware

C- show environment

D- show serial

E- show version

Answer: 
B, E

Question 5
Question Type: MultipleChoice

Which statement correctly describes the result of the following commands?

ACOS(config)#logging host 192.168.216.45

ACOs(config)#end

ACOS#active-partition p1



Currently active partition: p1

ACOS[p1](config)#logging host 2.2.2.2

ACOS[p1](config)#logging host partition shared

Options: 
A- System logs generated from partition ''p1'' will be sent to logging server ''2.2.2.2'', and only warning severity log messages are sent to

the shared logging server's ''192.168.216.45''.

B- System logs generated from partition ''p1'' will be sent to logging server ''2.2.2.2'', as well as to the shared logging server's

''192.168.216.45''.

C- System logs generated from partition ''p1'' will be sent to logging server ''2.2.2.2''.

D- System logs generated from partition ''p1'' will be sent to the shared logging server's ''192.168.216.45''.

Answer: 
B

Question 6
Question Type: MultipleChoice



Describe VRRP-A (high availability) and aVCS interoperability.

Options: 
A- Enabling VRRP-A requires that aVCS is operational

B- Enabling aVCS require VRRP-A is operational

C- VRRP-A and aVCS operate independently of each other

D- VRRP-A and aVCS must function simultaneously

Answer: 
D

Question 7
Question Type: MultipleChoice

The ''show admin'' displays the following output. Select the correct statements concerning admins on this device. (Choose two.)



Options: 
A- Sally is a read write administrator on the Acme partition.

B- Fred is a read write administrator on the Acme partition.

C- Fred can only log in with the web or api client.

D- User admin has no access to the acme partition.

E- Fred can run aXAPI scripts against the acme partition using his login information.

F- Sally can only log in with the web client.

G- Sally is a read write administrator on the shared partition.

Answer: 
A, C

Question 8



Question Type: MultipleChoice

What do we know about the state of the system from the CLI prompt? (Choose two.)

A1-vMaster[1/1][Helium2]#

Options: 
A- There is only 1 member in this A10 Virtual Chassis.

B- There are at least 2 private partitions configured.

C- aVCS has been configured, and this host is part of aVCS set 1.

D- aVCS has been configured, and this host is part of aVCS set 1/1.

E- Application Delivery Partitions have been configured.

Answer: 
D, E

Question 9
Question Type: MultipleChoice



Given the following ''show vcs summary'' output, which statements are true about the virtual chassis set? (Choose three.)



Options: 
A- Three devices were configured as part of the virtual chassis.

B- The command was run from the aVCS vMaster.

C- The aVCS vMaster of the group can always be accessed at IP Address 1.0.0.1.

D- The aVCS vMaster of the set can always be accessed at IP Address 224.0.0.210.

E- The command was run from device 3 of the set.

F- This is aVCS set-id 1.

Answer: 
A, E, F
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